Installation Guide

DIN Mounting Brackets
Models: B110-DIN-01, B110-DIN-02

Espanol 5 ¢ Francais 9 * Pycckuii 13

PROTECT YOUR INVESTMENT!

Register your product for quicker service and ultimate
peace of mind. You could also win an ISOBARGULTRA
surge protector—a $100 value!

www.tripplite.com/warranty

TRIPPLITE @

1111 W. 35th Street, Chicago, IL 60609 USA
www.tripplite.com/support

Copyright © 2018 Tripp Lite. All trademarks are the
sole property of their respective owners.

18-02-259-9337FA.indb 1 3/12/2018 12:51:44 PM



Installation

Note: The below steps show installation for the
B110-DIN-01. The same steps apply to the
B110-DIN-02, which has a wider U Bracket.

1. Remove DIN Rail Clip screws.

2. Using the provided M3x5 mm screws
(2 pcs.), attach the U Bracket to the
desired Tripp Lite extender product.

18-02-259-9337FA.indb 2 3/12/2018 12:51:45 PM



Installation

3. Reattach the DIN Rail Clip to the U
Bracket.

4. Securely mount the unit to any DIN Rail
Bracket.

Note: Ensure the spring goes over the DIN Rail
Bracket lip.

18-02-259-9337FA.indb 3 3/12/2018 12:51:47 PM



TRIPPLITE @

1111 W. 35th Street, Chicago, IL 60609 USA
www.tripplite.com/support

4

18-02-259-9337FA.indb 4 3/12/2018 12:51:47 PM



Guia de Instalacion

Soportes de

Instalacion DIN
Modelos: B110-DIN-01, B110-DIN-02

English 1 ¢ Francais 9 * Pycckun 13

TRIPPLITE ®

1111 W. 35th Street, Chicago, IL 60609 EE UU
www.tripplite.com/support

Copyright © 2018 Tripp Lite. Todas las marcas registradas
son propiedad de sus respectivos propietarios.

18-02-259-9337FA.indb 5 3/12/2018 12:51:47 PM



Instalacion

Nota: Los siguientes pasos muestran la instalacion para
el B110-DIN-01. Los mismos pasos se aplican para el
B110-DIN-02, que es un soporte en U mas ancho.

1. Retire los tornillos del Clip del Riel DIN.

i~

2. Usando los tornillos M3x5 mm suministrados
(2 piezas), fije el Soporte en U al producto
extensor deseado Tripp Lite.

18-02-259-9337FA.indb 6 3/12/2018 12:51:49 PM



Instalacion

3. Reinstale el Clip del Riel DIN al Soporte

4. Instale firmemente la unidad a cualquier
Soporte de Riel DIN.

Nota: Aseglirese de que el resorte pase sobre el
borde del Soporte del Riel DIN.

18-02-259-9337FA.indb 7 3/12/2018 12:51:50 PM



TRIPPLITE ®

a

1111 W. 35th Street, Chicago, IL 60609 EE. UU.
www.tripplite.com/support

8

18-02-259-9337FA.indb 8 3/12/2018 12:51:51 PM



Guide d'installation

Supports de montage DIN

Modéeles : B110-DIN-01, B110-DIN-02

English 1 * Espanol 5 * Pycckuii 13

TRIPPLITE @

1111 W. 35th Street, Chicago, IL 60609 USA
www.tripplite.com/support

Droits d'auteur © 2018 Tripp Lite. Toutes les marques de commerce
sont la propriété exclusive de leurs propriétaires respectifs.

18-02-259-9337FA.indb 9 3/12/2018 12:51:51 PM



Installation

Remarque : Les étapes ci-dessous illustrent l'installation
pour le B110-DIN-01. Les mémes étapes s'appliquent
au B110-DIN-02 dont le support en U est plus large.

1. Retirer les vis des brides de rails DIN.

2. En utilisant les vis M3 x 5 mm fournies
(2 vis), fixer le support en U au produit
prolongateur Tripp Lite désiré.

18-02-259-9337FA.indb 10 3/12/2018 12:51:51 PM



Installation

3. Refixer la bride de rail DIN au support
en U.

4. Fixer solidement l'appareil a un support
pour rail DIN.

Remarque : S'assurer que le ressort passe par-
dessus le rebord du support pour rail DIN.

18-02-259-9337FA.indb 11 3/12/2018 12:51:51 PM



TRIPPLITE @

1111 W. 35th Street, Chicago, IL 60609 USA
www.tripplite.com/support

12

18-02-259-9337FA.indb 12 3/12/2018 12:51:51 PM



PyKOBOACTBO no yCctraHOBKe

KpoHwTeitHbl ANA MOHTaXa Ha
DIN-peitky

Mogenu: B110-DIN-01, B110-DIN-02

English 1 - Espaiiol 5 - Francais 9

TRIPPLITE @

1111 W. 35th Street, Chicago, IL 60609 USA
www.tripplite.com/support

OxpaHserca aTopckum npasom © 2018 Tripp Lite. Bce Toproble 3Haku AnAloTcA
UCKNI0YNTENbHOI COBCTBEHHOCTbIO CBOMX COOTBETCTBYHOLLMX BafienblieB.

18-02-259-9337FA.indb 13 3/12/2018 12:51:52 PM



YcTaHoBKa

Tpumeyarue. OnucanHvle Huxe 0elicmaus OMHOCAMCA K ycmaHoeKe
modenu B110-DIN-01. Te xe delicmsus pacnpocmparsiomea u Ha Modest
B110-DIN-02, umetousyto Gonee wupokuti U-o6pasHelii kp Ui

1. BblBepHuTe BUHTbI duKcaTopoB DIN-peitki.

2. [pu nomovwy BUHTOB M3X5 MM, BXOAALLNX B KOMANEKT
noctaBkm (2 wr.), npukpenute U-06pa3Hblil KpOHLLTEIAH K
HYXXHOMY YANMHUTENbHOMY u3genuto Tripp Lite.

18-02-259-9337FA.indb 14 3/12/2018 12:51:52 PM



YcTaHoBKa
3.

Mpukpenute dukcatop DIN-peiikin 06patHo K U-o6pasHomy
KPOHLLTEIHY.

4. HapexHo npukpenuTe yCTPOiCTBO K No6OMY KPOHLUTEiiHY
DIN-peiiku.

Tpumeyarue. [IpyuHa 00MKHA 3aX00UMb 30 A3bI40K Kp

DIN-petiku.

18-02-259-9337FA.indb 15 3/12/2018 12:51:52 PM



TRIPP LITE ®

mm W. 35th Street, Chn:ago, 1L 60609 USA
www.tripplite.com/support

16 18-02-259 93-37FARev_A

18-02-259-9337FA.indb 16 3/12/2018 12:51:52 PM



